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51-56 Find an expression for the function whose graph is the
given curve
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33. + 0/2 points SCalc8 1.1.066. [4708220]

Find a formula for the described function.

A rectangle has area 16 m2. Express the perimeter P (in m) of the rectangle as a function of the length L of one of its sides.

32
P(L) = 2L+ —|m
% L
State the domain of P. (Assume the length of the rectangle is longer than its width. Enter your answer using interval
notation.)
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We can make the length L as big as we want, but if it's to be the longer of the sides, then
it can't be smaller than 4.

In Lauren's case, Area was 49, so L > 7 and can be made as large as we wish, and the
area will be LW = L(49/L) =49
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16.

+ 0/1 points SCalc9 1.1.522 XF. [4758501]

A spherical balloon with radius r inches has volume V(r) = %?TFB. Find an expression that represents the amount of air

required to inflate the balloon from a radius of r inches to a radius of r + 3 inches. (Express your answer in terms of m and r.)
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17. + 0M points

Evaluate the difference quotient for the given function. Simplify your answer.
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Graphing by shifting and stretching/shrinking/reflecting
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It ain't always easy to get the a's or b's outside the function, —
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14. + 0/8 points

Find each of the following functions and state their domains. (Enter the domains in interval notatic
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